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Satellite communication works through h k
TAeerse Haw fafafiaa O 9O feeaess areaa & Check your
Preparation'!

hTS ShiarT &7

(a) Radar/i=X Qﬁ' ﬁ QUQStion a'.erﬂ-

(b) Receptor/3mmEs (Ra=)
(¢) Transmitter/949Rsh (Z19@2)
(d) Transponder/gigdi=< U G C = N ET Pa per_ 1




which of the following? \
ATHEes AETEETera @ sTasuT fratataa 207/
/o ferent givfaa et 272
1. Jrife skill engagement/Siia shietel # dferaadn /
@/Iflateral entry into higher education system
Iva feenm womet # wifdfs sawr
\/ Educational opportunities for rural students
IreoT faenfef=i & fou diarfors s1aa
4. Providing employment to the educated
unemployed
forfera SsPTRT &6 TSR g2am U1
5. Expansion of local colleges
T weifaarerat 1 fawar
6. Preparing the vyouth for lower Ilevel
employment market
Choose the correct answer from the option
given below:

o | Wl faehea =1 w199 it
{ 1,2 and 3/1, 2 31X 3
(b) 2.3 and 4/2, 3 31X 4
(¢c) 3,4 and 5/3, 4 31X 5
(d) 4, 5 and 6/4, 5 37X 6

The concept of @nunity cullege)sures\/




3{ UGC-CARE has been set up for promoting
gSfid-wer @ uar frafafga @ @

fed/fehT TReTelt @t PreTed @Y % forg @
UERE '
\A. _Quality research/TUTaTITIS HIC) Q V\
\2./ Academic integrity/37haftieh eafaa1
\},/ ?’ublication ethics/JHTI S+ Afaehar
4. Inclusion and access/TAEYH 31X TEq

5. International collaborative research

HITHT TR T AT Iy

Choose the correct option from those given
below:

frafafaa o 9 ot faswea &1 =@ St
(a) 1,2,3and 5/1,2,3 311 5
(b) 2,3 and 4/2, 3 3R 4

(c) 2,3and 52,3 3R 5 /
(d) 1,2 and 3/1,2 3 3

\




%ighest college density, i.e., the highest

number of colleges per lakh eligible population
in the age group of 18-23 years in which of the

following states?
AfreHan TR e mﬂ?@%
AY WUE W R W Tk @ THEE W

(a) Bihar/fsRIX b) Kamataka/ﬁﬁj’
(¢) Uttar Pradesh/3T &1 (d) Guyarat/ TSI




o

The Tenth Five Year Plan approach paper on
higher education focussed on

Ieol nen w weifta guedt dearfie iemr &
giyentor uxr ® fAferfiga ® & faee o =i fear

\jé) Intemationalisationfaiﬁﬁaﬁzw C
t Xy
(b) Ruralisation/ITHIUeRT0T /
(c) Universalisation/Srd«idieror

(d) I C T orientation/31§ 9l &1 =gl




v &) Y
Landslides area of &0% " B

WG hi Iedi oAt UeT o1 &7 % M
(a) Chemical origin/THraf-sh /

(b) Hydrological origimﬁlﬁ-aflﬁ_m"
(¢) Hydro-biological origin/Sa-Sifaehia
\)A) Geo-physical originfil—ﬂﬂﬁlaﬁﬂ




Photochemical smog in urban areas is known
to cause \/ ]

vl @sl W gentyr TETaie ((hISTehiHaRe ) ~N
qU-hgl i fagmEar & freafafaa 1Y
¥
4,/ Respiratory effects/¥TH HaY FHd

J. Eye irritation/37@ ¥ Seg

\3./ Nose and throat irritation/aTeh 3 Tl H Felq
4. Carcinogenic effect/HT A% TIG

7. Reduction in visibility/3¥adl § HI

Choose the correct answer from the options

given below:

ﬁmﬁrﬁaﬁﬁﬁuﬁ%mmww
(a) 1,2 and 4/1,2 3 4

(b) 1,2,3and 5/1,2,3 3 5

(©) 2,4and 5/2,4 3R 5

(d) 1,2,3.4and 5/1,2,3,4 31 5




Climate change can have serious consequences e
for:

mwguﬁaﬁwmﬁwhﬁaamﬁsﬂ?m

qg Hehdl %:
|. Water security/STdl gi& / N
. Food security/@r g /
Erosion of coastal zones/deTd &3 &l &l /
Soil fertility/ga1 Jdtdr
Respiratory health/4q4 HEMH

Choose the correct answer from the options

(I - VS N o

given below:

faaferfiga o o wdt fasen &1 == Sifsa: \

(z(izandyl 23ﬂT3_> 6/
) 1,2, 4and 5/1,2, 4 3R 5

(c) 1.2.3and 5/1,2,3 3R 5

(d) 1,2,3,4and 5/1,2,3,4 3R 5




In I'T Act 2000, which section deals with

punishment for cyber terrorism?_ @
3mg <t srfifaeaw, 2000 W AigE 3MHahdle o

foru &5 @1 wrareT faRw amr # fasar war §2 =
(a) 45(F)/45 (T®) (b) 66(B)/66 (al) e

Qﬁsu:yﬁﬁ (W) ) (d) 67(BY67 (&)




Satellite communication works through

feeege o fafaflga § 9 forass aeam 9
7

(a) Radar/isX

(b) Receptor/3Tesh (fEe)

(c) Transmitter/SdRah (Z19HT)

@sﬁder@?ﬁ@ \/




Which of the following number systems uses
two numbers to represent data in computer?

(a) Bicentennial/fS91di@ (b) Biometric/Saqidia
@Binar}'/ﬁ@ (d) Byte/dge

\
O__-
Y
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rer fau U srichsl o TTAN WA Uiel Yol o 39T
difs

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively.

o= et aier [ (A, B, C, D 3T E)
dueta s faam #1(A,)B, C, D iv/E gwr s g
wUSia T wfagra a9 15 ufavre, 25 wiagme, 30
wferTe, 9 wieer Q1 Jfier &1

The difference between the number of laptops
sold by stores A and E when expressed as
percentage with reference to the number of
laptops sold by store A, would be

TR A 3T E grT < 70 Sueial s W A
g e T het STueral ot U o el fha

(a) 30% ,
(c) 45% (d) 50%
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:ﬂaﬁqwaﬁﬁ%wmww%w@ ) 1\(3\
SR \ .X\ v\\w P

Consider that five stores (A, B, C, D and E) have sold \.(\
2400 laptops. Let the percentages of laptops sold by «)).}NQ
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%

respectively. /))\
w SifAT wier @R (A, B, C. D 3w B)& 2400 ) / \,,Q)(
wuety o= faor 81 A, B, C, D 3¥ E gnr Ry ‘ 5

wUeia T wiayra A9 15 wfavre, 25 widasr, 30 ){V
gieroTe, 9 Wiaora 3T 21 wfaora ) {X

\/What is the difference between the number of /

laptnps sold by store C and the totalmumber of
g nps sold by stores A and D together? Q\I\V\Q

T TIUEi @l T 3i L A (’
anﬁmaﬁwﬁwﬁaﬁgﬁim <
o e  3fav femae 27 Y-\

@36 ”.\»'

(c) 12 (d) 180




<t

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%

respectively.

U= efifeu e 'R (A, B, C, D 3T E) F 2400
wueiy == fear 81 A, B, G, D 3T E AT &< 7

et fqu T etichel o TTEN 3T Ui JoAT & I Q
\&

wUSia T Wiaora a9 (15 , 25 wfeyra, 30 O{
R B ) Vl;

What is the ratio of the laptops sold by store g S
to that of the laptops sold by store D?

LR JT &9 T AT w1 =D FN A
T YT St TAT | 37U T &7

(a) 3:5 s \/
(&) 2D (d) 3:

\N—""




el fau TTu stishel o TTAN 3TTA Uil WAl oh 30
it \M

Consider that five stores (A, B, C, D and E) have sold
2400 laptops. Let the percentages of laptops sold by
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively.

U= s uier ©Ri (A, B, C, D 3T E) F(2400
diueia o= fdar #1 A, B, C, D 3T E g1 o= 70
2T T Wiawra uyT: 15 Wiavd, 25 wfava, 30
vmﬁ,wﬁmaﬁ@wg. N4

If the data given above were to be represented
in the form of a pie chart, then what would be ®©

the central angle corresponding to the number A &nq

of laptops sold by E? —
2 e ) b s
AT AT @ E g #9 M0 SUSiT % ey
hHETa SRITT T EraT?
(a) 37.8 (b) 7

(c) 38.6 (dy 77.2




fer fau 7w 3Rl o TER WA Uie W91 o
e | \> (o
Consider that five stores (A, B, C, D and E) have sold \‘S \/ _ 3

2400 laptops. Let the percentages of laptops sold by U\ﬂ‘
A, B, C, D and E be 15%, 25%, 30%, 9% and 21%
respectively.

u= efifsa uier R (A, B, C, D 3T E) 400 ot = L
detn A= e 1 (W) B, O)D E T a=r T L f"vlq/\) o
“igeta @1 wfaera waer: (15 , 25 wiawd, &‘\\50 X \,2/0\
yfereTd, 9 wieawra 3w 21 wfawra &)

What is the average numb-er of laptops sold by % :5\)
the stores A, C and D together? \,2’0\ \«

A,(ﬁﬁjﬂﬁlﬂﬁfﬁ:{ﬁ%mﬁw‘qaﬁ
e wwe faa-r g2

(a) 1296 (b) 110
(c) 368 | (@ 432 )



What fallacy is committed in the following
argument?

ﬁnﬁf@a T | HI-|T dh-3W 87

"Mr. X is wrong in what he said because he is
undisciplined by naturg’

ﬁmqwﬁwﬁaﬁr‘mﬁagw%m_

@uE ¥ FaymETEE eV
aAd hominem/Ts '@ﬁﬁﬂj/
(b) Ad populum/Tg UIetH
(¢) Ad hoc/T8 Bl
(d) Ad misericordiam/Tg frsdimifeay




'Some animals are not harmful’ is an example@
of which of the folluwm%types of propositions?

g—ﬁgusggrﬁmqﬁr ugﬁqa'éam

T ISTELUT 872 .
(a) Particular Affirmative/faey faeg J F‘ /\
(b) Particular Negative/faw fmyg v/

(¢) Universal Negative/Sa+id e C@
(d) Universal Affirmative/aa+m faeg \




A good classroom talk should help develop @
U SHW et aral fedr faerfua ?ﬂﬁ

L RAPC A wMad?
(a) Jargonised language/fafSTy Wrsaraell ek e
(b) Macro criticism/dgd- SICIEE]

(¢) Summary sentences/TIET qTh tﬂlnl»\f-l/

(d) Technalﬂgy Drlentatlon/ﬂiﬁﬁﬁaﬁ BTIIEHT




Acrcorrding to National Skills Qualifications
Framework (NSQF) the level 8 competency is
equivalent to.

T ®YTE AT W@ (HUHFRLUE,) &
ITAR w1 § FAraan feraes auged &2

(a) Post graduate degree/37aX S IGEAR LS|

(b) Under graduate degree/® e fei

\(,é) Under graduate (Hons.) degree
3 W (314) fe

(d) Doctoral degree/Side{ia feiit




Which of the following contribute to effectiv

cross cultural communication?

mﬁﬁﬂw-ﬁmm:WQ@g

T # e w82

\\;.
N

Choose the correct answer from the options

[ ——

Quick flow of words/3Tsal & @Rd ¥a@
Use of foreign words/fae3fl v=a &1 I9Im
Selection of simple words

HIYROT T1&1 1 3T

Taking turns to speak/al @0 o {2 arft ey

Maintenance of etiquette

fTPRR i F9T TEar

given below.

e fear 9 faeeul @ W W& 39 )

(a) A, Band Conly/&dd A, B 3R C

(b) B, C, and D only/&dd B, C 3 D

(¢) A, Dand E only/3dd A, D 31 E
) C,Dand E only/&ad C, D 3R E




Which of the following sequences correctly
reflects the development of teaching support
systems in Indian Higher Education?

faeafafigs o 9 S9-91 /T O Soer e

H Oreror-wuedT goett & fasm wradr I 9

wiefsifara wear 872

(a) Audio-visual, Aural-oral, Visual and ICT
based/3Ya-9ed, Sl - Hiflgs, TTIRE 3R
e 4.4t - smafi

(b) Aural-oral, Visual, Audio-visual and ICT
based/@tTe-Tifgsh, Iva-9=a 3R omE. &

- 3HRA

(c) ICT based, Audio-visual, Aural-oral and
Visual/3Ts. €1 21 -amaRa, gva-ga, &fvia -
Hifigsh 3T gyawH

(d) Visual, Aural-oral, ICT based and Audio-
visual/g¥aqieh, @ifvfs - wiftgs, =1 @A, -
MR 3R gYI-97A

2\
=



Which of the following strategies of teaching
are learner-centered?

frefefiea ® @ frgwr @ 37 ot @
T THITSU, T SMEATHSRAT chfgd §—
I. Cybernetics/EaRAfea

2. Lecture with audio visual aids
JA-3Y9-Terad: YRy aralt Y ggrea | fEan
T A=A

3. Question-answer session/d¥--3d{ TF

4. Practical tasks based project

ATl HE-3MERd s
5. Group discussion/dqg 94l

Choose the correct answer from the options
given below

frefarfias fasedt o @ 219-T 31 iU
(a) 1and 4/1 3R 4 (b) 1and 2/1 31 2
(c) 3 and 4/3 3R 4 (d) 4 and 5/4 31T 5




In which of the following evaluation systems,
evaluation occurs informally during learning? 7;5

frefafiaa § ¥ frT TeaieT uTelt § forerer —
@& SN U= ©0 ¥ Uedich- gidl &7

(a) Evaluation in choice-based credit system
fashea - =renid goelt § Gedish

(b) Evaluation through computer based test
HIET - A TleIor o AreFy 9 Yo

(c) Summative evaluation/Hha-THS Hodlch

(d) Formative evaluation/fHIUTHE Tedih




Which of the following contribute to effective
cross cultural communication?

Preferfae § ¥ @AW WA i W
HHEU H AR Hid 87

A. Quick flow of words/3Teai &1 @Rd Ja@

B. Use of foreign words/ <3l w=di &1 I
L.

Selection of simple words

HIYRUT YI&al &l 39T
D. Taking turns to Speak/ﬁ?ﬁ‘ & fora ard o
E. Maintenance of etiquette

fyTPrER &t FAT wEAl

Choose the correct answer from the options
given below.

e fegr T fasredl o W W& 3 -0
(a) A, B and C only/&dd A, B 3R C
(b) B, C, and D only/&aa B, C 3 D
(¢) A, DandE only/#3@ A, D 3R E
(d) C,Dand E anly}aﬁﬁ C,D AR E
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